
Exterior Elevation: Folding Out Option

Plan View: Not Track

Interior Elevation: Folding Out Option

1

1

2

2

3

3

4

4

A A

B B

C C

D D

 

DWG #: 0002163

DRAWN:BCM  12/21/2017

SHEET #1 

File: 0002163.idw

THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF 

CROWN INDUSTRIAL.  ANY REPRODUCTION 

IN PART OR AS A WHOLE WITHOUT THE 

WRITTEN PERMISSION OF CROWN 

INDUSTRIAL IS PROHIBITED.

ID #: STOCK PART #:

MATERIAL:

REV:
# PCS.FINISH:

DESCRIPTION:

 

 

Top/Bottom Pivot Set for #25 Track, Bifold

 

 

0002591 25B237

 

ALL DIMENSIONS IN INCHES

C R O W N

INDUSTRIAL

So. San Francisco, Ca

(650) 952-5150

www.crown-industrial.com

Finished Floor

1/2

Bottom of Track

1 7/8 ±

4

7/16

Allow Clearance, Min 3/8"

#CBI8500FM (8508/8513)

Precision Engeered High 

Capacity Full Mortise Hinge

#25 Track

#335Tx25

Heavy Duty Top Pivot 

Track Mounted Assy. -Ptd.

#CBI8500FM (8508/8513)

Precision Engeered High 

Capacity Full Mortise Hinge

#25B442

Two Wheel Trolley

#335x25BP-626

Heavy Duty Bottom Pivot Set

(S-Side Mount, E-End Mount)

#335x25TP-626

Top Pivot Door Assy

#25Px5.1BLE

Cross Ear Bracket w/ 

Soffit Clips [Low Head]

#25 Track

#25B442SWTK

Keeper, Swivel, & Top Plate, Zinc

1/2

7 1/8

5 7/8

8

#25Px5.1BLE

Cross Ear Bracket w/ Soffit Clips [Low Head]



1

1

2

2

3

3

4

4

A A

B B

C C

D D

 

DWG #: 0002163

DRAWN:BCM  12/14/2015

SHEET #2 

File: 0002163.idw

THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF 

CROWN INDUSTRIAL.  ANY REPRODUCTION 

IN PART OR AS A WHOLE WITHOUT THE 

WRITTEN PERMISSION OF CROWN 

INDUSTRIAL IS PROHIBITED.

ID #: STOCK PART #:

MATERIAL:

REV:
# PCS.FINISH:

DESCRIPTION:

 

1

Heavy Duty Bottom Pivot Set, Side Mount for 1-3/4" Min. Thk Door

 

US26D (626) Satin Chrome

0002160-1 335x25BPS-626

 

ALL DIMENSIONS IN INCHES

C R O W N

INDUSTRIAL

So. San Francisco, Ca

(650) 952-5150

www.crown-industrial.com

Finished Floor

7/8

5 1/8

2 7/8

1 

1 1/2

2 1/2 ±

1 3/4

Thrust Bearing, Spindle & Shoulder Collar

5 9/32

9

2 2 2 3/8

2 2 1 3/8

6 5/16

Floor Plate

7X Countersunk Holes

for 5/16 Flat Head Machine Screw (82)

7 7/8

3/8

1 3/8

2 1/4

1 1/2

3/8

3/8 (4 ea.) FHSCS 5/16-18 UNC x 1.5

Flat Head Socket Cap Screw

(1 1/8)



1

1

2

2

3

3

4

4

A A

B B

C C

D D

 

DWG #: 0002163

DRAWN:BCM  1/20/2016

SHEET #3 

File: 0002163.idw

THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF 

CROWN INDUSTRIAL.  ANY REPRODUCTION 

IN PART OR AS A WHOLE WITHOUT THE 

WRITTEN PERMISSION OF CROWN 

INDUSTRIAL IS PROHIBITED.

ID #: STOCK PART #:

MATERIAL:

REV:
# PCS.FINISH:

DESCRIPTION:

 

1

End Mount Arm (Non-Handed) for 2" Min Thick Door

 

US26D (626) Satin Chrome

0002198 335x25BPE-626

 

ALL DIMENSIONS IN INCHES

C R O W N

INDUSTRIAL

So. San Francisco, Ca

(650) 952-5150

www.crown-industrial.com

Finished Floor

2 1/2 

1 1/2

1 

8 1/2

1 5/8

7 5/16

6 5/16

5 9/32

Floor Plate

5 1/8

7/8

2 7/8

2 1/4 3 1/16 1/2

3 1/16 2 1/16

5XCountersunk Holes

For 5/16 Flat Head Machine Screw (82)

5/16

1 3/4

Thrust bearing, Spindle & Shoulder Collar

5 9/32

1/4

1/4

(4 ea.) HSCS 1/4 - 20 UNC - 1

Hex Socket Head Cap Screw

Fasteners Included:

(5 ea.) 5/16"-18 x 2-1/4" Flat Slotted Head Machine Screw, Zinc

(7 ea.) #18 x 3" Flat Phillips Head Wood Screw, Zinc

(1 1/8)



Plan View: With Cover Plate Removed

1

1

2

2

3

3

4

4

A A

B B

C C

D D

 

DWG #: 0002163

DRAWN:BCM  1/25/2016

SHEET #4 

File: 0002163.idw

THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF 

CROWN INDUSTRIAL.  ANY REPRODUCTION 

IN PART OR AS A WHOLE WITHOUT THE 

WRITTEN PERMISSION OF CROWN 

INDUSTRIAL IS PROHIBITED.

ID #: STOCK PART #:

MATERIAL:

REV:
# PCS.FINISH:

DESCRIPTION:

 

1

Top Pivot Door Assembly, Heavy Duty

 

US26D

0002200 335x25TP-626

 

ALL DIMENSIONS IN INCHES

C R O W N

INDUSTRIAL

So. San Francisco, Ca

(650) 952-5150

www.crown-industrial.com

1 1/4

6 11/16

2X  Countersunk Holes

For #12 Flat Head Screw

 Countersunk Hole

For 1/4 Flat Head Screw

7/166 1/32

Cover Plate

6

 

3

/

4

1

 

5

/

1

6

1 7/16

1 7/16

1 3/4

5/16

2 1/2



1

1

2

2

3

3

4

4

A A

B B

C C

D D

 

DWG #: 0002163

DRAWN:BCM  12/18/2015

SHEET #5 

File: 0002163.idw

THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF 

CROWN INDUSTRIAL.  ANY REPRODUCTION 

IN PART OR AS A WHOLE WITHOUT THE 

WRITTEN PERMISSION OF CROWN 

INDUSTRIAL IS PROHIBITED.

ID #: STOCK PART #:

MATERIAL:

REV:
# PCS.FINISH:

DESCRIPTION:

Welded Steel Mild

1

Heavy Duty Top Pivot Track Mounted Assy-Ptd. 

 

Ptd.

0002170 335TX25

 

ALL DIMENSIONS IN INCHES

C R O W N

INDUSTRIAL

So. San Francisco, Ca

(650) 952-5150

www.crown-industrial.com

Weld to Track

after installation 

is complete

4

#25 Track

5 11/16

4 3/16

#335Tx25

Heavy Duty Top Pivot Track Mounted Assembly


